7.3 Special Products DAY ONE Student notes with work

7.3 Special Products (Day 1)

Essential Question what are the patterns in the special products

(a + b)a—b), (a + by, and (a — b)??

The 3 products above show up so many times
in math that we just want to memorize what
they equal. Let's see if we can figure them out
by looking at some patterns, starting with the
first product.
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(a + b)(a-b)is called a sum times a difference, why?

The following 3 problems shows the sum of 2 numbers
multiplied by their difference.

FOIL out all 3 and see if you notice any repeated reasoning.

1) (@ 2) (- 10)(m +10) 3) (+7)(-7)
X~ D Tox— |

x=9
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Let's see if this works when we know both numbers.

1) Use FOIL to simplify: (8 2
2) Use the pattern to simplify: (8 - 2)(8 + 2

(What was the pattern?) QD L‘, %

3) Use order of ops to simplify: (8 - 2)(8 + 2)
?&\ADA S (L) (1) =

The reason we usually can't use order of ops is
because you will not know both numbers.
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So in general a sum times a difference of the
same 2 numbers is equal to the difference of
their squares:

(@+b)a-b)= o  — b°
Use the pattern to answer:

1) wW+6)w-6) 2) (x-12)(x+12)
2. 2
W - 306 X =44

3) (4-x)4+x) 4 (%m T %)(%m ] %)
\ 2
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The next special product is the square of a sum (or square
of a b|nom|al) (a + b)®>. This means 2 factors of the base

(otb) "= (o 'o)@db)

Let's discover the pattern using FOIL.
yfs:z\ 2) (v + 3y 3) (x +y)°
Q_@r @) Q\Ji’%)(_\l D)

K% +8x +8x +64 RN LY w2

¥l A
It %@%_Heﬁ%) duct mhree terms (calleu a

trinomial) where the first term is the P 3?)”119 middle
term is two /\and the last term is )0 \ Q‘“’\\’\ﬁ S%up\rqgk

Fimes e IST 3 Z“"‘T‘i\h@
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Let's verify our pattern using all numbers;

?gmms
1) by FOIL 2) by pattern 3) order of ops

(5 + 3)? (5 + 3)?

G 6
AS+1S 415 4+ b
S T30 :Q\)r (—ﬂ

&
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So, in general: [(a + by = o 420k +b*

From now on we want to use this special
pattern to square any binomial.

DI 2) @+5F
X +9\<X3(\\)¥\\1

T p3ax +12)
3) (3x + by

o= 3x lo'(o

v b-g
Bx) %&@l}(@f(&x@ . ENTAS
0 sy ) ) 1000

2. & l
{}L +%b 4 »
2
qb +ibe D
Feb 2-2:15 PM

The next special product is the square of a
difference (or square a binomial): (a - b)%
This means 2 factors of the base

(0-b) = (ab)(a-b)

Let's discover the pattern using FOIL.

1) (-8 -
Q«& &3 %@s

)\ 8 - gx*(gq VeIV A

NS VES
X“l(o\—HQ\\ ﬁ)
It Tooks like product ends up with

terms (called a {viny,0.) Where the first term
is the [*" 1 ' SQ J__, the middle term is
Jand the last term is

S(YA na . (Is this the same pattern
as the square of a sum’?)

3) (x - y)
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Let's verify our pattern using all numbers:

1) by FOIL 2) by pattern 3) order of ops

2 (5-3) (5-3)
(ﬁ@) A —20b + b

RA5-15-15 +9 ‘539\(5)@ +(—S>l
A -30 +9 025»36 \,Q\

o 0
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So, in general:| (a - b)* =

From now on we want to use this special
pattern to square any binomial.

1) (x - 9)° 2) (9 15)°
z@)(s) w15 S
F‘:) ~So%faa:)

3) (2x - 5yy’
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Fill in the 3 Special Products use a and b:

1) Sum x Difference:
(a+)@-b)= (&-b)

2) Square of a Sum:
(square of a binomial)

(o45) = o +Aabsh®

3) Square of a Difference:
(square of a binomial)

O-b) = 5" Zab+b?

Feb 2-3:28 PM

7.3 Day 1 Special Products
WS -1

Feb 2-3:45 PM



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

